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Trig review cheat sheet

Cheatography This is a draft sheet of cheats. It's a work in the go and it's not finished yet. b²-4ac &gt; 02 real rootsb²-4ac = 01 repeated rootb²-4ac &lt; 02 imaginary roots supplementary anglesadd up to 180°complementary anglesadd up to 90° a=bc=a√2 or b√2c/√2=a or b when a triangle's 3 angles are 30°, 60°, and 90° a = long leg b = short leg c = hypotenuse
sineopposite/hypotenusecosineadjacent/hypotenusetangentopposite/adjacent cosecanthypotenuse/oppositesecanthypotenuse/adjacentcotangentadjacent/opposite  areaπr²diameter2rcircumference2πr OR πdarc lengthθrr = radius d = diameter θ = angle degrees to radiansθ·π/180radians to degreesθ·180/π sinycosxtany/xcsc1/ysec1/xcotx/yfor tan &amp; cot, only use the tops of
the fractions aamplitude changebperiod changechorizontal change: + = left, - = rightdvertical change: + = up, - + down-sin(x)reflection across x-axissin(-x)reflection across y=axis amplitudeverticalperiodhorizontalboth always positive tan, cos, sec, cot: no amplitude  csc(x) = 1/sin(x) restricting range : usually I &amp; IV except in kos⁻¹: I &amp; II sins = 1/cscsccscs = 1/sinscoss =
1/secssecs = 1/cos1tan1 = 1/cotscot1 = 1/tans tans = sins/cos1cot1 = coss/sinss dosa²1 + cos²s = 1tan²1 + 1 = sec²1 + cos² a = csc²s sin21 = 2sinscosstan2s = 2tan1 / 1-tan²scos2s = cos²s - sin2s21 = 1 - 2sin² cos21 = 2cos²1 &lt;9&gt; - 1 sin(a+b) = sin(a)cos(b) + cos(a)sin(b)sin(a-b) = sin(a)cos(a)cos(a+b) = cos(a)cos(b) - sin(a)sin(b)cos(a-b) = cos(a)cos(b) +
sin(a)dosa(b)tan(a+b) = tan(a)+tan(b) / 1-tan(a)tan(b) tan(a-b) = tan(a)+tan(b) / 1+tan(b) school math trig trigonometry We offset our carbon use with Ecology. Click the link below to help us! ;&gt; 2 Advance //media.cheatography.com/storage/thumb/sapphicpenguin_trigonometry.750.jpg Your Download Will Start Automatically in 5 Seconds.Close 1. TRIGONOMETRY 2. 1. Find
another function  if sin s = 3 5 . (5 PTS.) 2. secM = 6 5 , look for other trigonometric functions. (5 PTS.) 3. Look for 6 trigonometric functions P. (6 PTS.) 4. Given the sin = 4 5 , tanE = 5 12 , and cosF = 8 17 complete cscD 2 - cotF - cotE (4 PTS.) Finish what you're asked. Express your answer in the easiest form. Good for 10 minutes. Finish 3. 1. Find another function  if sin s =
3 5 sins = 3 5 cscs = 5 3 coss = 4 5 secs = 5 4 tans = 3 4 cots = 4 3 2. secM = 6 5 , looking for another trig. Function. secM = 6 5 tanM = 11 5 sinM = 11 6 = 6 11 11 costM = 5 6 cotton = 5 11 11 3. Find 6 functions of trigonometrics given P sinP = 76 20 cscP = 20 76 76 = 5 76 19 cosP = 18 20 = 9 10 secP = 20 18 = 10 9 tons = 76 18 cotP = 18 76 76 = 9 76 38 4. Given that sin = 4 5
, tanE = 5 12 , and cosF = 8 17 finished for cscD 2 ∙ cotF ∙ cotE cscD 2 ∙ cotF ∙ cotE = 25 16 ∙ 12 5 ∙ 8 15 = 2 DAY 1 DUE  THE DIAGNOSTIC EXAMINATION (TRIGONOMETRY)  OF THE SOHCAHTOA  SOHCAHTOA  PYTHAGOREAN TRIPLE 5. DAY 2 of  REVIEWS  OF  SPECIAL CORNERS  MARK THE  REFERENCE CHART 6. DAY 2  REVIEW   6 TRIG
CIRCLE UNIT. FNCS OF SPECIAL ANGLES (30O, 45O, 60O)  SIGN CHART OF FUNCTION ANGLES (Ang Sarap Hemitig ni Crush)  STANDARD RANKING OF  CORNER REFERENCE  SORTS (addt'l: perigon/round, conjugation angle, coterminal angle)  ConverSION  Degree to radians  Radians to  REVOLUTION SYSTEM  SEXAGESIMAL SYTEM  Operation
on DMS (degree, minutes &amp; second notation) RECAP 7. DAY 3  REVIEW OF THE QUIZ  CIRCULAR SYSTEM  QUADRANTAL ANGLE  FUNCTION  FUNCTION OF THE NEGATIVE ANGLE TRIGONOMETRIC  THE FUNCTIONAL GRAPH OF THE  FUNCTION BEARS 8. REVIEW QUIZ 2: SET 1. Specify a.) angle b.) 6 trigo. fnc. of θ = 495 O 2. Evaluate the
following: a.) cot 330 O b. ) cost 5π 4 c. ) tonnes 7π 6 d. ) Sin − 3π 4 3. Determine sin A and sec A if tanA = 8 6 . Express your answers in the simplest form. 4. Given that sin = 4 5 , tanE = 5 12 , and cotG = 24 7 . Complete for a costD value of 2 ∙ secG ∙ cosE 5. Granted: tanθ = 3, θ in QIII. Find other trigonometric functions. 6. Switch to degree/ radian: a.) 75O b.) 270O c.) 11/6
d.) -4/5 7. ALTERNATIVE RESPONSE: WRITE TRUE or FALSE. Any form of deletion means wrong. a.) A quiet triangle is also equilateral. b.) Secant  is a reciprocal of the .c.) The total number of all angles of any triangle is 360. d.) The angle is positive if the direction is counter-minded. e.) 285 and 75 corner of charcoal. 9. CHECK QUIZ 2: SET B 1. Specify a.) angle b.)
6 trigo. fnc. of θ = −240 O 2. Evaluate the following: a.) sin 135 O b. ) cost − 330 O c. ) tonnes 3π 4 d. ) Sin −45 O tonnes −120O cos (5π 6 ) 3. Specify a.) csc A b.) sec A if cotA = 9 12 . Express your answers in the simplest form. 4. Given the sin = 4 5 , tanE = 5 12 , and = 8 17 . Complete cscD value 2 - cotF - cotE 5. Given: tans = − 3 3 , s in QIV. Look for other trigonometric
functions. 6. Switch to degrees/radians: a.) -210O b.) 240O c.) -7/4 s.) 7/6 7. ALTERNATIVE RESPONSE: Write TRUE or FALSE. Any form of blackout means wrong. a.) In the right triangle which has acute angles of 30O and 60O, the length of the opposite side of 30O is one and a half lengths side by side. b.) If the value of one acute angular function is known, it is possible to
look for five other functions. c.) Pythagorean teorem can be used in any triangle. d.) The reciprocal function of the fuse is sine. e.) The shorter leg of the triangle 30O-60O-90O is 1. 10. ANSWER: KUIZ REVIEW 2 SET B 1. s = −240 O a.) 60 b.) sin −240 O = 3 2 css −240 O = 2 3 3 cos −240 O = − 1 2 sec −240 O = −2 tan −240 O = − 3 cot −240 O = − 3 3 3 2. a.) sin135 O = 2 2 b.)
COS − 330 O = 3 2 c.) tan 3π 4 = −1 d.) sin −45 O tan −120O cos 5π 6 = − 2 2 3 1 − 3 2 = 3 2 4 3. cscA = 5 4 b.) secA = 5 3 4. cscD 2 = 25 16 cotF = 8 15 cot bayi E = 12 5 = 2 5. a.) sin 1 = − 1 2 b.) cos 1 = 3 2 c.) ccs 1 = −2 d.) sec 1 = 2 3 3 e.) baby bed 1 = − 3 6. a.) −210 O = − 7π 6 rad. b.) 240O= 4π 3 rad. c.)-315O d.) 210O 7. a.) FALSE b.) TRUE c.) FALSE d.) FAKE e.)
THAT'S RIGHT 11. The circle system - radian (rad) is the basic unit - one radian is the size of an angle, which if the vertex is placed in the center of the sphere, subduing the same arc with the circle finger of geometry: c = 2r, if r = 1 rad then c = 2radians, we know that c = 360O There is therefore 2πradians 2 = 360 2 radians = 180O 1 rad = 180 O π 1 O = πrad 180 O 180 O
1 = finger arclength = s r s = 1r From radian to darjah From diploma to radian 12. WRAPPING FUNCTION 13. 30O 1 2 3 π 6 = 30 O 14. π 4 = 45 O 15. π 6 = 60 O 16. SUMMARY 17. EXERCISE Looking for the coordinates of the blind eye. 1. w − π 2 2. w 8π 6 3. w −π 4. w 3π 4 5. w 2π 18. EXERCISE: SET B Find the coordinates of the blind eye. 1. w 5π 6 2. w −3π 3. w 11π 4 4.
w − 4π 3 5. w 6π 19. ANSWER: SET B Find the coordinates of the blind eye. 1. w 5π 6 = − 3 2 , 1 2 2. w −3π = −1.0 3. w 11π 4 = − 2 2 , 2 2 4. w − 4π 3 = − 1 2 , − 3 2 5. W = 1.0 20. QUADRANTAL QUADRANTAL ANGLE - the terminal part of the corner in the standard position coincides with one of the axis of the coordinates: 0O / 360O , 90O , 180O , 270O 1.0 x = 1 y = 0 r = 1
sin0 O = y r = 0 1 = 0 cos0 O = x r = 1 1 = 1 ton O = y x = 0 1 = 0 csc0 O = r y = 1 0 = ∞ sec0 O = r x = 1 1 = 1 ton O = x y = 1 0 = ∞ 21.  sin y r   cos x   ton y x   csc r y   sec r x   bed x y   0O 0 0 0 1  1 1  0 0 1  1 0   1 1 1  1 0   90O 1 1  0 0 1  1 p.m  . 1 1 1  1 0   0 0 1  180O 0 1  1 1    0 1   1 0   1 1 1 11 
  0    270O 1 1 1    0 0 1  1 0    1 1    1 0   0 0 1   Summary : Rate = 450O + 540O + 630O + 720O = 90O + 180O + 270O + 360O = 0 + (-1) + 0 +1 = 0 22. TRIGONOMETRY FUNCTION NEGATIVE FUNCTION ANGLESTRIGONOMETRIC DOSE NEGATIVE ANGLETRIGONOMETRIC DOSE NEGATIVE ANGLE (-) = y r  =-sin csc (- )
= r y = -csc cos (- ) = x r = cos sec (-) = r x = sec ton (-) = y x  = -ton bed (-) = x y = -crib Example: Assessing the following: 1. tons (-45O) 2. cos (-60O) 3. csc (-450O) - r-y x P (x, y) = −tan45 O = − 1 = -1 = kos60 O = 1 2 = −csc450 O = −csc90 O = −1 23. FUNCTIONAL GRAPH OF TRIGONOMETRIC FUNCTION A. Function sine B. Cosine Function
cosine function 0.25 0.5 0.75 1 sinevalue Pro A D R N Pro A R R y = Sins x Properties: Duration = 2 Amplitude = 1 Domain = Range  = [-1, 1] Nature: symmetrical with origin B. Kosin Function costine -1 -0.75 -0.5 -0.25 0.25 0.25 0.5 0.75 1 0 30 60 90 120 150 150180 210 240 270 300 330 360 degrees Cosinevalue Pry = Sin x Property: Duration = 2 Amplitude = 1 Domain =
 = [-1, 1] Nature: shifts with respect to the original y = cos x Property: Duration = 2 Amplitude = 1 Domain = range  = [-1, 1] Nature: a trial with respect to the y-axis axis 25. Notable function -2.75 -2 -1.25 -0.5 0.25 1 1.75 2.5 -90 -60 -30 0 30 60 90 120 150 180 degrees tangentvalue y = ton x Properties : Duration =  Amplitude = Domains not defined =  2 k    , k
is the integer range = nature : symmetry with respect to the origins of Improving function between Discontinuous consecutive asymptomatices on 2 x k  , k is an integer 26. PARTS DEFINITION OF THERMAL GRAPHS 1. Node - the eyes on which the curve intersects the neutral axis 2. Amplitud – the absolute value of the maximum distance curve from the neutral axis 3.
Duration – duration (in degrees/radians) to complete cycle 4. Wavelength – complete cycle node period N.A. (paksi neutral) amplitud 27. GRAPH FEATURES DIFFERENT TRIGONOMETRIC FUNCTIONS Graph Properties 1. sin cos y x y x     Amplitud 2 2. sin cos y bx y bx     Amplitude Period a 2 b  (effect b is it unfolds or compresses the graph so that the
new period is 2/b) 3.     sin cos y bx c y bx c         Amplitude End Phase Period point 2 b  c b (if c b is positive, the curve switches to the right) (if c b is negative, left curved shift) c + 2 b  (starting point + period 4.     sin cos y bx c d y bx c           Amplitude Phase Transition Translation 2 b  c b d (if d positive,
N.A. transition over pack x) (if d is negative, N.A. transition under x-pack) 28. AMALAN y = −3sin 1 2 x + π 8 − 1 Amplitud = −3 = 3 Period = 2π b = 2π 1 2 = 2π 1 - 2 1 = hose 4π = 4π 4 = π Transition phase = c b = − π 8 1 2 = − π 2 - 2 1 = − π 4 Endpoint = phase transition + period = − π 4 + 4π = 15π 4 Translation = -1 29. x 180o 150o 120o 90o 60o 30o Refer to the graph under
___ 1 . The figure describes the graph of the function kosin A. coexual function C. tabernaity function D. tabernaé function __ 2. The graph cycle number has A. 2 B. 3 C. 4 D. 5 __ 3. The graph equation is A. y = tan3x B. y = cos3x C. y = sin3x D. y = cot3x __ 4. What is the function period? A. 30o B. 60o C. 90o D. 120o ___ 5. This function has a frequency of A. 2 B. 3 C. 4 D. 5
______ 6. The function julat is equal to A. -∞ ≤ y ≥ +∞ B. 0 ≤ y ≤ +∞ C. 0 ≤ y ≤ -∞ D. y ≥ +∞ __ 7. Which one of the following does not belong to the group? A. 30o B. 90o C. 120o D. 150o __ 8. Which one of the following is NOT sifar function? A. 0o B. 90o C. 120o D. 180o 30. USE OF THE RIGHT TRIANGLE A. GALAS B. ANGLE OF HEIGHT AND MOODINESS 31. GALAS - one-
point direction with regard to a specific point Galas type: 1. True Galas/Course (T)- angle measured from the north at 2 o'clock. Easy Galas (S)- Acute angle measured from north or south Example: 1. 2. 35O E N W S T: S: 35O E N W S T: S: 32. 3. 4. 35O E N W S T: S: 35O E N W S T: S: 33. Example: Finish the following: 1. Clark House is 4 kilometers (km) N65O 40'E from SM
Taytay while Bruce's house is 3 km S24O 20'E from SM Taytay. Find the distance between the two houses. 2. MV Cristina is 85 km to the East and 107 km to the south of certain ports. Find distance and galas from the harbor. 3. Two ships left the same port at the same time, the MV Katrina was going in the direction of the N70O E and the MV Milagros sailed eastwards. Mv at a
distance of 30 kilometers an hour (kph). After 30 minutes, the MV Milagros was observed to continue south of MV Katrina. Find the speed of the MV Milagros. 4. Three ships are located as follows: A is 250 stones caused north of C, and B is 375 stones caused east of C. Are galas easy a.) B of A b.) A from B? 5. Determine galas that are easy and correct numbers. O 40O 23O C A B
25O 34. ALTITUDE AND MOODINESS ANGLE 35. HEIGHT ANGLE AND MOODINESS PROBLEM Example: Solve the following: 1. From the top of the house of light, 135 meters (m) high, note that the angle of the ship's moodiness is 21O. How far is the ship from the top of the mountain? 2. Bea, standing 9m. above the ground, observes the angle of height and moodiness of the
upper and lower part of rizal monument in Luneta as 6O50' and 7O30'. Find the height of the monument. 3. The Maru is 5 feet (ka.) high and casts shadows 6 feet above the ground. Find the angle of the sun's height. 4. From two eyes each across the river, the top height angles of the 80-foot principal are 60O and 30O, respectively. The eyes and the point are in the same straight
line, which is gauze with the river. How far is the river? 5. The top of the mountain stands near the cedar plain where two farm houses, C and D are in a straight line from the summit. The angle of moodiness from top to C is 50O42' and the angle of moodiness to D is 25O30'. The peak is known to be 1,005 meters above the plain level. Find a distance from C to D. 36. ANGLE OF
HEIGHT AND MOODINESS PROBLEM 1. From the top of the house of light, 135 meters (m) high, it is noted that the angle of the ship's moodiness is 21O. To what extent is the ship from above the house of light? 21O 135 m. x 37. ALTITUDE ANGLE AND MOODINESS PROBLEM 2. Bea, standing 9m. above the ground, observed the height and low angles of the upper and lower
part of rizal monuments in Luneta as 6O50' and 7O30' respectively. Find the height of the monument. 9 m. 6O50' 7O30' h 38. ANGLE OF ALTITUDE AND MOODINESS PROBLEM 3. The Maru is 5 feet (ft.) tall and casts shadows 6 feet above the ground. Find the angle of the sun's height. 5 feet 6 feet  39. ANGLE OF ALTITUDE AND MOODINESS PROBLEM 4. From two eyes
each across the river, the top height angles of the 80 square feet are 60O and 30O, respectively. The eyes and the point are in the same straight line, which is gauze with the river. How far is the river? x 80 ka. x 40. ANGLE OF ALTITUDE AND MOODINESS PROBLEM 5. The mountaintop stands near a cedar plain where two farm houses, C and D are in a straight line from the
summit. The angle of moodiness from top to C is 50O42' and the angle of moodiness to D is 25O30'. The peak is known to be 1,005 meters above the plain level. Find distance from C to D. 25O30' 50O42' 50O42' CD P A 1005 m. x x 41. QUIZ: BEARING &amp; &amp;ANGLE DEPRESSION HEIGHT 1. A plane took off on a horror track 915 metres from a building, 50 metres tall.
What is the minimum height angle departing to ensure going over the building if it flew in a straight line? (3 PTS.) 2. The launched missile has a depression angle from a launch standpoint has a 30O20 deterioration standpoint and is known to be 1185 metres from the ground. Find the distance the missile has travelled. (3 PTS.) 3. At a relatively distance from the base of the cliff, the
surveyor finds the height angle to the top of the cliff to 70O. After moving the distance of 100 m. in the horror line further down the cliff, the corner becomes 50O. How high is a cliff? (3 PTS.) 4. A plane travels 60 km away. Due to the storm, it switches from starting point to current position, the distance is 90 km. How far is his journey when it changes? (3 PTS.) 5. Determine the
simple and true bearings of OA, OB, OC AND OD. (8 PTS.) 42. QUIZ: BEARING &amp; &amp;ANGLE DEPRESSION HEIGHT 1. A plane took off on a horror track 915 metres from a building, 50 metres tall. What is the minimum height angle departing to ensure going over the building if it flew in a straight line? (3 PTS.) 121 ye. 915 ka. tanθ = 121 915 θ = 7 O 31 43. QUIZ:
BEARING &amp; &amp;ANGLE DEPRESSION HEIGHT 2. The missile launched has a depression corner from a launch standpoint having a 30O20 depression standpoint' and is known as 1185 feet away from the ground. Find the distance the missile has travelled. (3 PTS.) 1185 yards. 30O20' sin30O20 = 1185 x x = 2346. 40 ka. x 30O20' 44. QUIZ: BEARING &amp; &amp;ANGLE
DEPRESSION HEIGHT 3. At a relatively distance from the base of the cliff, a surveyor found a height angle to the top of the cliff to 70O. After moving the distance of 100 m. in the horror line further down the cliff, the corner becomes 50O. How high is a cliff? (3 PTS.) tan70O = h x h = xtan70 O h = 2.75x(1) tan50O = h x + 100 h = (tan50 O)(x + 100) h = 1.19x + 100tan50 O h = 1.19x
+ 119.18(2) (100tan50 O h = 1.19x + 119.18(2) (100tan50 O h = 1.19x + 119.18(2) (100tan50 O h = 1.19x + 119.18(2) (100tan50 O h = 1.19x + 119.18(2)100tan50 O h = 1.19x + 119.18(2) (119.18(2) (100tan50 O h = 1.19x + 119.18(2) (119.18(2) (100tan50 O h = 1.19x + 119.18(2) (119.18(2) (100tan50 O h = 1.19x + 119.18(2) (119.18(2) (19x + 100tan50 O h = 1.191)=(2) h = h
2.75x = 1.19x + 119.18 1.56x = 119.18 x = 76.40(3) (3)to(1) h = 2.75(76.40) h = 210. 10 m h 50O 70O 100 m x 45. PROVES IDENTITY 46. RECOMMENDATIONS FOR PROVING IDENTITY 1. Learn well the formula given above (or at least, know how to find them quickly). 2. Choose a more complicated side and start changing it so that it has the same shape as the simpler side. 3.
Sometimes, it is easier to each side simultaneously into the same shape (METHOD 2). 4. Try to express everything in terms of sin and costin. 5.Instead of applying 4, sometimes beneficial to convert everything into one function only. 6. Have an open mind in using the algebraic process to make it easier for proverbs. 7. You can introduce the desired factors to obtain a specific
expression. 8. Find ways to use an identity of 6, 7 and 8 or one of the other forms. 9.Set in mind the outcome you want in the end. 47. Sinus cos ton cos tons cot sec csc 1 2 2 2 2 2 2 48. 3. csc2 θ − csc2 θcos2 θ = 1 49. 1. secθ+1 secθ−1 = 1+cosθ 1−cosθ 2. 1−do it θ 1+cot2 θ = sin2 θ − cos2 θ 3. 1 1+cosa + 1 1−cosa = 2csc2 a 4. sinβ 1+cosβ + 1+cosβ sinβ = 2cscβ 5.
csc4 θ − cot4 θ = csc2 θ + cot2 θ 6. tan3 x +sinxsecx−sinxcosx secx−cosx = tanxsecx + sinx 50. VOLUME AND DIFFERENCE OF TWO ANGLES 51. LOGARITHMS LOGARITHMS
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